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QUESTION 1

Click the Exhibit button.

[edit interfaces]
userfiroucer# show
ge-1/0/0 §
unitc o {
family inet {
filcer
input inhound filter;
output outhound filter;
¥
policer |
input inhound policer;
output outbound policer;
}
addreas 10.10.100.1/24;

Referring to the exhibit, in which order will ICMP traffic be processed by the configured filters and policers for interface
ge-1/0/07?

A. input filter, input policer, output policer, output filter
B. input policer, input fitter, output policer, output filter
C. input filter, input policer, output filter, output policer
D. input policer, input filter, output filter, output policer

Correct Answer: D

QUESTION 2

To reduce the size of OSPF Area 100, you configure the area with the no-summaries parameter. After committing this
configuration change, you notice that an OSPF router in a remote area is no longer receiving Type 5 LSAs from an
ASBR in Area 100.

Which statement is true in this scenario?

A. The ASBR in Area 100 generates Type 5 LSAs, and places them in its own database.

B. The ASBR in Area 100 generates Type 5 LSAs, and they are translated to Type 7 LSAs.

C. The ASBR in Area 100 generates Type 5 LSAs, and they are blocked by the ABR.
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D. The ASBR in Area 100 generates Type 5 LSAs, and a virtual link is required for transport to other areas.

Correct Answer: B

QUESTION 3

Which statement is correct regarding BGP route reflectors?

A. The route reflectors must have a private AS number.

B. The route reflectors must have an EBGP peering session between each other.
C. The route reflectors must have a cluster ID configured.

D. The route reflectors must have a different AS number than the clients.

Correct Answer: C

QUESTION 4

Click the Exhibit button.

user@PEZ# shaow

iwmld |
unit 0O {
encapsu_ation wvlan-zco;
wvlan—-id 610;
reer—-un-t 1;
i

unit 1
encapsu_ation wvlan-zco;
wlan—-id B610;
peer—un-t 1;

You have configured Layer 2 VPN stitching between two Layer 2 circuits on PE2, but traffic is not passing through the
VPN.

Referring to the exhibit, what is the problem?
A. The unit 1 peer unit must be set to 0.
B. The VLAN IDs must be lower than 512.

C. The VLAN IDs must be different on each unit.
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D. The peer units must reference the VLAN IDs.

Correct Answer: A

QUESTION 5

Click the Exhibit button.

lo0: 192 168.30.40 lo0: 172.16.18.1

R1 %1&11.1.2}'24 1D.11.1.1I24$ Rz
(A5 65101) 10.11.2.2/24 10.11.2.1/24 (AS 65200)
[edit protocols bgp group ASES5Z00]
userfRl# show
C¥pe external:
local-address 192.168.30.,40:;

neighbor 172.16.18.1 !
peer-as G65200;

}

[edit routing-options]
userfRlg# show
static !
rouce 172.16.18.1/32 next-hop [ 10.11.1.1 10.11.2.1 ]:

H

Referring to the exhibit, what must be added to the existing configuration to ensure that per-prefix load balancing
occurs?

A. multihop

B. keep all

C. multipath

D. family inet unicast

Correct Answer: A
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